
1A3C – Výsledky cvičných příkladů 1-14 na 3. čtvrtletní práci 

 

1. 𝐾 = {0; −7} 

2. 𝐾 = ∅ 

3. 𝑥 ∈ (−∞; −1) ∪ (2; +∞) 

4. 𝐾 = ∅ 

5. 𝑥 ∈ (−∞; −3) ∪ ⟨−1; 0) 

6. 𝑥 ∈ (−∞; −
10

13
) ∪ (−

2

3
;  0) ∪ (0; +∞) 

7. [6; 8] 

8. [1; 0; 2] 

9. Df = R – {–2} 

10. 𝐷𝑓 = 〈1; 3〉 ∪ ⟨4;  +∞) 

11. 𝐷𝑓 = (−∞; −2) ∪ (−2; −1⟩ ∪ ⟨6; +∞) 

12. 𝑎) 𝑥2 − 𝑥 − 132 = (𝑥 − 12)(𝑥 + 11)        𝑏) 4𝑥2 + 12𝑥 − 216 = 4(𝑥 − 6)(𝑥 + 9) 

13. 𝐷𝑓 = (−∞; −4) ∪ ⟨0; 3) ∪ ⟨10; +∞) 

14. 𝑥 ≠ −7; −3; −2; 4; 5; 

(𝑥 − 1)(𝑥 − 4)

(𝑥 − 5)(𝑥 + 2)
 

 


